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�
��

#�+� �$#&��� 	,���$ $�-���$�!%( '�� �	
��� �����

�
 �d = 1�� �� ���� �
� 	

����
��� ��!
����
 �� ��� /B���� �����	���� ����� �	
 	 ��	
�
� ���
 β ≥ 1 "�+%�
;�� Y = {Y (t); t ∈ R} �� 	 ��
����� .	�

�	
 �	
��� �����

 ���� 
�	���
	��

�
�����
�
 	
� �	�����	� v� ;�� t ∈ R� &� ��� 
�-��
��
(

Y (t+h)−Y (t)
h

)
	����
 	 �����

�
 L2(Ω,A, P) 	
 h → 0� �� 
	� ��	� Y �
 ��	
�
-�	�� ��:���
��	��� 	� ���
� t� <�
��
��� �� Y ′(t) ��� �����
��
��
� ������ ����� �
 	 ��
����� .	�

�	
 �	��	��� �
��
��� �

�	
�� �	�� #2 �� "3%�� <��
 ���
 ����
 ��� 	
� t ∈ R

d� ��� �	�����	� v �� Y
�
 ��� ����
 ��:���
��	���� ��� �����

 Y ′ �
 
�	���
	�� 	
� ��
 �	�����	� 
	��
!�


vY ′(t) = − (v′′(t) − v′′(0)) = lim
h→0

h−2
E (Y (t + h) − Y (t) − Y (h) + Y (0))2 .�$�

C����
������ �� �	
 ������� ��!
� ��� n����� ��	
 
-�	�� ��:���
��	��� �� 	
�����

 Y 	
 ��� ��	
 
-�	�� �����	���� �� ��� Y (n−1) ��� �� ���
�
�� <� ���
 ��!
�
��� ����
��� /B���� �����	����� ;�� β = n+s� ���� n ∈ N 	
� s ∈ (0, 1)� <� 
	� ��	�
Y 	����
 β 	
 ������	� /B���� ����
�
�� �� Y �
 �	� n����� ��	
 
-�	�� ��:���
��	���
	
� ��� ��
 nth ��	
 
-�	�� �����	���� 	����
 s = β − n ∈ (0, 1) 	
 ������	� /B����
����
�
�� 0
 
�	��� �
 ��� �������
� �������� ��� ����
��� /B���� �����	���� �� 	
�����

 �	
 	�
� �� ������� ���� ��� ���	���� �� ��
 �	�����	� ���	���� 	���
� 0
	
� 	
�������� ���������
 �� ��� 
�����	� ��

����

�"�#$�' .(.( ��� Y = {Y (t); t ∈ R} �� � �������
 ��
��� ������� %��� ��������
��
����� ��� β = n + s� %��� n ∈ N �
� s ∈ (0, 1)�

�� ��� ��� �
� 0 < α ≤ s ≤ γ < 1� ����� ����� A, B1, B2 > 0 ���� ���� ��� ������ ���
ξ ∈ R�

�� |ξ| ≥ A ⇒ B1|ξ|−2γ−2n−1 ≤ fY (ξ) ≤ B2|ξ|−2α−2n−1. !��
�

��� ��� �����&��� vY �� �� ����� C2n �
 � 
��&�������� �� 0

���� ����� ������ δ > 0 �
� C1, C2 > 0 ���� ����
∀|t| ≤ δ� C1|t|2γ ≤ ∣∣v(2n)(t) − v(2n)(0)

∣∣ ≤ C2|t|2α.

�� "�
�����
� 
��� �
� 
���� ����� ���� ��� ������� Y ������ β �� �������� #$����
����
�
��

#�$� ��-���$�!% #* �� ����( 0 ������ 	�����	���
 �� ������� #�� 
���
 ��	� ���
������	� /B���� ����
�
� �� 	
 0'(' ��
 ����

��
 d = 2� �
 �-�	� �� ��� ��
��	�
�	��� H �� ��� /��
� �
��� ��
����
 h �
 [−π, π)=

�,� H = essinf [−π,π)(h).

��� ������	� /B���� ����
�
� H �� 	
 0'(' ���� �� �	���� ��� ��
��	� /��
� �
����
&
 ��� �	������	� '(' �	
�� ��� ��
��	� /��
� �
��� �
 ��� �
�	� /��
� �
����
��� ��
��	� /��
� �
��� �	
 �� ��

������ 	
 	 ��
�	��
�	� �	�	����� �����
��	�	�����4�
 ��� 0'(' ������� �����
�

 �� ����
� ��� /B���� �����	����� *���



� �������� ���	
�� 
�� 	��
��� ����
�

	�
� ��	� ��� ��
��	� /��
� �
��� �� 	
 0'(' �
 ���	��� �� ��� /	�
���: 	
�
(������
��
� ��	��	� ����

��

 �� ��
 ��	�� G(X) = {(y, X(y)) ; y ∈ [−T, T ]2}
�2� ���HG(X) = ���BG(X) = 2 + 1 − H = 3 − H,

	���
� 
������ ��� 	
� T > 0 ������ �� "3�% ��� ��� ����

��
 ��!
����

�� ���
��
��	� /��
� �
���� ���
� ��������
��
����
��
�� ���
 
�� �	����� 	
� 	
�
�������
��	���� �� 	
 0'('�

#�,� ��-���$�!% #� #$���!�� �����( &
 	������ �� ��	�	�����4� ��� 	
�
������ ��
	
 0'('� �
� ����� �����
� �� 
���� ��� !��� 	��
� ����
��� 
��	���� ��
�
� ���
�
��� -��
���
 	��
�
 ��  
�� ������� �� 
�� ��� /B���� �����	���� �� 	
 0'(' 	��
�
	 ��
� �
 
������ ���	��� �� ��� /��
� �
��� �
 ��� ��������
 �� ��� ��
��
&
 ��� ��
��	� 
����
� �� ����

��
 d� ��� �
 �	�	�����4� 	
� ��
� Δ �� R

d ����
(t0, θ) ∈ R

d × Sd−1 	
� ��!
� XΔ = {X(t0 + tθ); t ∈ R} ��� ��
�������
 �� 	 !���
X �
 ��� ��
� Δ� &� X �
 	 .'�7� 	
� ��
�������
 XΔ �
 	 .	�

�	
 �����

 ����

�����	� ��

��� ����
 ��

�5� ∀p ∈ R, fΔ(p) =

∫
〈θ〉⊥

f(ξ + pθ)dξ,

����� f �
 ��� 
�����	� ��

��� �� X 	
� 〈θ〉⊥ ��
���
 ��� �������	
� �� R
d ��������


	� �� ��� ��������
 θ� <��
 X �
 	
 0'(' 	
� d = 2� �� �	
 �� 
���
 ��	� ��� 	
�
��
� Δ� ��
�����

 ��� 	
� ���� �� ��� ������� #�� ���� ��� ��� 
�����	� ��

��� �� XΔ

���� H = essinf [−π,π](h)� &
 ����� ����
� ��� 	
� ���
�
 ��
� Δ� ��� ������	� /B����
����
�
� �� XΔ �
 ��

�	
� 	
� �-�	� �� ��� ��
��	� /��
� �
���� ���������� �� �


�� ��

���� �� 
���� ��������
	� /��
� �
����
 �� 	
 0'(' �
�
� ��
����
�������

�

#�2� �$#0�&!�#� $�-���$�!%( 0
 	
 	����
	���� �� ��
����
�������

� (�
	�� 	
�
6
��	�� �����
�� �� 
���� ��
����� C	��
 ��	

����
 �� !���
 "�+%� ���
� ��	

�
����
 	�� ��!
�� �
 ��� ��
��	� 
����
� �� ����

��
 d� �� ���9����
� 	 !��� X 	��
�
�������	
�
 〈θ〉⊥ �� R

d=

�1� ∀(θ, t) ∈ Sd−1 × R, RρX(θ, t) =

∫
〈θ〉⊥

X(s + tθ)ρ(s)ds,

����� ρ �
 	 ��
��� ��
����
 �� ��� ����	��4 ��	

 
��� ��	�
∫

R
ρ(γ)dγ = 1� ���
�

��� -��
���
 	��
�
 ��  
�� �� ��� �����	���� �� ��� �����

 RρX(θ, t) �
 ���	��� �� ���
/��
� �
��� �� X �
 ��� ��������
 θ� '�� 	
� ��������
 θ ∈ Sd−1� ��� ���	�
�� �����


RθX = {RρX(θ, t), t ∈ R} �
 	 .	�

�	
 �����

 ���� 	 
�����	� ��

��� ����
 ��

��@� ∀p ∈ R, Rθf(p) =

∫
〈θ〉⊥

f(ξ + pθ) |ρ̂(ξ)|2 dξ,

����� f �
 ��� 
�����	� ��

��� �� X� '�� 	
 0'('� �� �	
 
���
 ��	� ��� 
�����	�
��

��� �� RθX ���� 
 ��
�����
 ��� �� ������� #�# ��� β(θ) = h(θ) + 1/2� &
 �����
����
� ��� /B���� �����	���� �� ��� ���9����� !��� RθX �
 �-�	� �� h(θ) + 1/2 	
�
����
�
 �
 ��� ��������
 θ 	��
� ����� ��� ���9�����
 �
 ���������� ��� �	�	�����



�

1
2
�����
��
�
 �� ��� 
������
� �:��� �� ��� ���9�����
 ����� �
 �-�	� �� d−1

2
�d = 2��

(� �
���	��
� ��� �����	���� �� ��� �����

 RθX� �� �
 ���
 ��

���� �� �
���	�� ���
�	��� h(θ) 	
� 
���� ��� 	
�
������ �� 	
 0'('�

3� ���	���	�� ������

0
 ��
���
�� 	����� ��� ��������
	� /��
� �
��� h(θ) �� 	
 0'(' �	
 �� �������
���� ��� ������	� /B���� ����
�
� �� ��� ���9����� !��� RρX(θ, ·) 	��
� ��� ��������

θ� ��
�� ���
 ���9����� !��� �
 	 �
������

��
	� ��	����
	� (���
�	
 �����
 ��(���
�� �
 ��

���� �� �
� �
���	���
 ����
�-��
 ����� �	�� ���
 ��������� ��� 
��� ����
��

�
� D� �� 
��� �	
� �
���	���
 �� ��� /��
� �
��� �� 	 �(� �	�� ���
 �����
��
�
�� "#+% 	
� "2% 	
� ������
��
 ������
 ��� 	 �������� ��� �	����� �� ������� �
���
�	���� ��� ���	��� <������ �
���	��� "��%� 	
� ��� �	�������	
�� �
���	���
 "�% 	��
����
 �
�� ��� 	
	��4�
� �(� ���� ��
���	
�� ����
��
�� �H ∈ (1/2, 1)�� ���
�
�
���	���
 	�� ��

�
��
� 	
� �	�� 	
 	
�������� 
���	����� ���� ����� �
���	���

	�� ��!
�� �� 	 !�����
� �� ��
����� ��
���	���

 �� 	 �(� 
	���� �	��� ���
 �

��� �	
� ���� .�
��	��4�� E�	��	��� )	��	���

 �.E)� 
������ �
 "32� +#%� ����
�
���	���
 	�� �	������	��� �
����
��
�= ��� ���� �	
 �� �
�� ��� ��� �
���	���
 �� ���
�����	���� �� 	 �	��� ��	

 �� .	�

�	
 !���
 ����� �
�����
 �(�� ���� ���� 	�� 	�
�
��

�
��
� 	
� �	�� 	
�������� 
���	����� 7�� �� ��� ���� ���������
 �� .E)� ��
���
� ��� .E) ��� ��� �
���	���
 �� ��������
	� /��
� �
����
 �
 ���
 
�����

3��� ����$���1�� 2���$�!�& 3�$��!�#��( ;�� Yθ �� ��� ���9����� !��� RρX(θ, ·)
�� 	
 0'(' X� 	
 ��!
�� �� 6-�	���
 �1�� ;�� M = 2m� ��� 	
 �
����� m ≥ 1� '��
	
� ν ∈ N� ν < m� u ∈ N\{0}� �� ��!
� 
���
������� �
�����
�
 Zν

θ,u �� Yθ

���� Zν
θ,u(t) = Yθ

(
t + 2u

2−νM

)
− 2Yθ

(
t + u

2−νM

)
+ Yθ

(
t

2−νM

)
.

��� �	��� 1/2−νM �	
 �� 
��
 	
 	 �����
��
 	� ����� Yθ �
 ��

������ 	
� u/2−νM
	
 	
 �
�����
� 
���� 7�� �� 	

������

 �
 Yθ� ��� �����

 Zν

θ,u �
 
�	���
	��� ���
��
��	��4�� -�	��	��� �	��	���

 �� Yθ �� ����� 2 	�� ��!
�� 	


��#� V ν
θ,u =

1

2−νM − 2u + 1

2−νM−2u∑
p=0

(Zν
θ,u(p))2.

(� ����������� �
� �	
 ����� ��	� V ν
θ,u ∼

2−νM→+∞
E(V ν

θ,u)� ���������

E(V ν
θ,u) = E((Zν

θ,u(0))2) = E

(
Yθ

(
2νu

M
+

2νu

M

)
− 2Yθ

(
2νu

M

)
+ Yθ(0)

)2

,

A���	��
� ���
 �-�	���
 �� 6-�	���
 �$�� �� �	
 �
������� E(V ν
θ,u) 	
 	 
���
� �����

��
����� �����	���� �� ��� �	�����	� 	���
� 0� 7�� �� 	�����	���
 �� ������� #�# ��
Yθ� ��� ������	� /B���� ����
�
� �� Zν

θ,u �
 h(θ) + 1/2 	
� ��� 	
�������� ���	����



� �������� ���	
�� 
�� 	��
��� ����
�

�� ��� �	�����	� �� Zν
θ,u �
  
��
 ���
�����
 ������ 0
 	 ��
���� �
� �	
 
��� ��	�

��3� E(V ν
θ,u) ∼

2−νM→+∞
C(2−νM)−2h(θ)−1u2h(θ)+1.

'��� ���
 	
�������� �������� �� .E)� �� �	
 �����
���	��� ������ 	
 �
���	��� ��
h(θ) �	
�� �
 .E) �� Yθ� 
	����

��+� Ĥν(θ) =
1

2 log(2)
log

(
V ν

θ,2

V ν
θ,1

)
− 1

2
.

��� ����� 	
� ���������	� ��
�����

 ��� ���
 �
���	��� �� ��
����� �� h(θ) 	
 2−νM
��
�
 �� +∞ �	
 �� ���
� �
 "�3%�

3�#� ����#!$#4% !��!( ;�� �
 ��

���� ��� �	
� �� 	
 0'(� X ���� 
�����	� ��
�

��� f 
	��
���
�

��$� f(ξ) =

{ |ξ|−(2h1+2), if |ξ1| < c1|ξ2|
|ξ|−(2h2+2), if |ξ2| < c2|ξ1|,

���� 0 < c2 < c−1
1 � ;�� �
 ��
��� Ĥν

1 = Ĥν(0, 1) 	
� Ĥν
2 = Ĥν(1, 0) ��� �
���	���


�� ��� ��������
	� /��
� ����
�
� �
 ������	� 	
� ����4�
�	� ��������

�

�"�#$�' 5(/( ��� X �� �
 '�() %��� �������� ��
���� f ��������
& ��$�� !��
�
������ ������

Ĥν
1 − Ĥν

2 −→
2−νM→+∞

h1 − h2

%���� ��� ���� γ > 0�
√

2−νM
(
Ĥν

1 − Ĥν
2 − (h1 − h2)

)
d−→

2−νM→+∞
N (

0, γ2
)
.

���
 ������� �
 ������ �
 	���
��� 0� &� �
 ��� ���������	� ��
��������
 �� ���
�	��� �� ��� 
���� �� �
���	��� 	
��������
 ��� 0'(' �����
�
&
 	������
 �� ��
 ���������	� �
����
�� ������� 3�� �	
 �� �
�� �����
���	��� ���

��
��
� ��� �
������ �� 	
 0'('� ;�� �
 ��

���� ��� 
�	��
���	� 	
�������� �������
�
�
 ��
� ��� ��
��
� ��� 	

������
 H0= h1 = h2 ��
������� 	�	�

� H1= h1 �= h2

�	
�
�������� 8�� ��
� 
�	��
��� �
 
	���	��� ��!
�� ��

��,� Dν
M =

√
2−νM

∣∣∣Ĥν
1 − Ĥν

2

∣∣∣ .
(� ������� 3��� �
��� ��� 	

������
 H0 �� �	�� Dν

M
d−→

2−νM→+∞
|N (0, γ2) | �����

Dν
M −→

2−νM→+∞
+ ∞ �
��� ��� 	

������
 H1� /�
��� �� ��!
� ��� ���� �� 	


�������
�
 ��9�����
 �
����	� ��� ��
!��
�� ����� α� 	


��2� Rν = {Dν
M > γ tα},

����� tα 
�	
�
 ��� (1 − α/2)�-�	
���� �� ��� ��
����� 	
� 
���	��4�� .	�

�	

��
��������
�



�

3�3� �'4��'��!�!�#�( 0

��� �� ��
���� 	 #�����

��
	� ��	��4	���
 �� 	 !��� x
�
 ��� �
����� ���� {( k

M
, l

M

)
, 0 ≤ k, l ≤ M} �� [0, 1]2 	� ��
������
 1/M � <� ��
���

�� x(k, l) ��� �	��� �� ��� ��
����� !��� 	� ��
����

(

k
M

, l
M

)
� <� !�
� �������

��
����� ���� 	
� �����
���
� 	���	��
 �y1 	
� y2� �� x=

��5� ∀ 0 ≤ k, l ≤ M, y1(l) =
1

M

M∑
k=0

x(k, l) and y2(k) =
l

M

M∑
l=0

x(k, l).

<� ���
 ������� ��
����� -�	��	��� �	��	���

 vν
e,u �
 ���� ��������

 �e = 1, 2� ���

���	���
 �	�	�����
 u = 1, 2 	
� ��:���
� �	���
 �� ν �
��� ��	� 2ν+1u < M�

��1� vν
e,u =

1

M̃ + 1

M̃∑
p=0

(ye(sp) − 2 ye(s(p + u)) + ye(s(p + 2u)))2,

���� s = 2ν 	
� M̃ = M/2ν − 2u� '�
	���� �� ��!
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 ��������

 e = 1, 2
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e =
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− 1
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������� �� ��� �
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e,u/V

ν
θ,u)
∣∣ ≤ C ′′M−α(M/2ν)h(θ)+1/2,
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�� �� ĥν
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�����
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mh(θ)−H+1/2
h(θ)+1/2
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1 (l) = x(k, l) and zl

2(k) = x(k, l).
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1
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e(p + u) + zj
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Y1(t) =
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R
X(s, t)ρ(s)ds� ��
��������� Y2(t) =

∫
R

X(t, s)ρ(s)ds� 	
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�� �� �����
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 V ν

1,u 	
� V ν
2,u

�� Zν
1,u 	
� Zν

2,u� 	������
� �� ��#�� ��

T ν
1,u = V ν

1,u/E
(
V ν

1,u

)
	
� T ν

2,u = V ν
2,u/E

(
V ν

2,u

)
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T ν
e,u −→

2−νM→+∞
1 	� 
� ����

√
2−νM

(
T ν

e,u − 1
) −→

2−νM→+∞
N (0, σu

e,u),

��� e, u ∈ {1, 2}� ����� ��� v ∈ {1, 2}

�#1� σv
e,u = Cv

u

(
he +

1

2

)
/(uv)2he+1E

(
he +

1

2

)2

,

���� Cv
u(H) = 4

∑
p∈Z

(∫
R

e−ipξ(1 − e−iuξ)2(1 − eivξ)2|ξ|−2H−1dξ
)2
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E
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E
(
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1,1

)
E
(
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e,u

) (V ν
e,u − E
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))
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ae,u

E
(
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1,1
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E
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1 + O
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)
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1
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=
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N (0, 1),



�� �������� ���	
�� 
�� 	��
��� ����
�

	
 
��
 	
 max
k

|λk,n| = o
2−νM→+∞

(sn)� 8
 ��� �
� �	
�� 	
 ����� ���
� ���

max
k

|λk,n| �
 ����
 ��

C2νM−1 max
1≤e,u≤2

max
0≤p≤2−νM−2u

∑
1≤e′,u′≤2

2−νM−2u′∑
p′=0
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=
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2ν pξ2

M e−i
2νp′ξ1

M (1−eiu
2ν ξ2

M )2(1−e−iu′ 2νξ1
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����� ρ̂(ξe) =
∫

R
eisξeρ(s)ds �
 ��� '������ ��	

���� �� ��� ��
��� ��
����
� ������

���� ∣∣A�� (Zν
1,u(p), Zν

2,u′(p′)
)∣∣ ≤ C(2−νM)−4,

����

C = (uu′)2

∫
R2

ξ2
2ξ

2
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σ1
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σ2
1,1 σ2
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0 0 σ2
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log
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− log
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2,1

))
d−→

2−νM→+∞
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E
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E
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E
(
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E
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E
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))− log
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E
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E
(
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E
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) = 22he+1
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(
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√
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Ĥν
1−Ĥν

2 = h1−h2+
1

2 log(2)

(
log

(
E
(
T ν

1,2

)
E
(
T ν
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))− log

(
E
(
T ν
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)
E
(
T ν
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)))+ o
2−νM→+∞

(
1/
√
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)
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4 log(2)2
�

Ĥν
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�� ����
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(
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�

�&9�# ���-'��!�( 0�����
 	�� ��	����� �� 7�� (	 �� 	
� 7�� �	����
� �D
��
���
��� �� J�


���	
�	� ��� �:���
� ���� ��� �������
��� �� 
���� ''7� �	����
��	�
 	�-����� �
 ����� ���	����
� �� C	�������� ���
 ��� �	
 
�������� �� ���
��	
� 0*C�*�@$��+#@3@ �� ��� H0��
�� *	���
	� ���� �	 C��������H�

'���������

8/9 :" �$��� :" +�
;��*��� �
� �" <����
" =�*���� ������!� �
������ �
� />� ���������" �
 �������
	
��� �
 ����������� *��!�� /2?� ����� /5@?2" <���
���'-������ /AA5"

869 :" �$�� �
� �" <����
" #�� ��*����'$���� ��
������ ��� �������
�� ����
��
 �����
 ��������
$� �" <����
 �
� B" �����4 �����C� �
� ���� �������
�����
" ����� �
����� ����

� �
����
?4?77@?0?� /AA1"

8?9 �" D" �����" ��� ��
����� 
� ��
�
� �����" D��
 =���� E <�
�� /A0/"
8F9 <" ������ �� ��"� �������" ��� �
���
���

��  
�!��
� 

 ��"���� #���
"������ G	�<� F2F1�

��
�������� HI� D!
� 622F" <���
���"
859 �" ������� �" ��
���� �
� �" 
������" ���
��3�����
 �
� ������ ������������
 �� �
���������

+�!����
 3����" ���������	
 �� �
� ������� ������� ���	��

� 6225"
819 D" �" ������� +" G�
�� +" .���
����� �� ��" +�
������� �� ��
�'��
�� ����
��
�� ���������4

� �!�*��" �
 ���
�� �
� ���������

� 
� �

"$��
"� ����
��
��� ����� 57A@16?" ���C��!���
�����
� 622?"



�� �������� ���	
�� 
�� 	��
��� ����
�

879 D" �" ������� +" G�
�� +" .���
����� �� ��" <���'���������� ���������
 �� ��� ��
�'��
��
����
��
�� ���������4 � �!�*��" �
 ���
�� �
� ���������

� 
� �

"$��
"� ����
��
��� �����
557@577" ���C��!��� �����
� 622?"

809 �" ��
����� <" D�J���� �
� �" ��! " 
������� +�!����
 ��
��� ���������" ��%� #������
�&��
�������
�� /?%/&4/A@0A� /AA7"

8A9 �"G" ��
����!� <" :�!��
� 
" G������������� �� ��" ������� �
������ �� ������������ ���$��!���
$�
� �� �!�� �
� $�
� ��
���� ��
����" '
��
�� 
� (

� �
� #�
���� ��������� /1%F&41A7@72?�
622/"

8/29 �" ��
��
� �" �" ������������ �" �K!���� �
� �" :" <���L��" �)!���� ��������'�����
� �
�
��� �J��� �
 ���!�� �� �
� �
� ���������
"  ���� ���
��� ����� F64/@/0� 6221"

8//9 D" ����
" ��������� �
� �

"$���
�� ��
������" ������
 ���� G�
��
� /AAF"
8/69 �" �����M� �" �" ������������ �
� �" :" <���L��" .������� �����
� ���$�� ��
��� 3����"

��
��� )�
�� ������ //7%?&4?/6@??6� 6227"
8/?9 �" �����M �
� �" �������" 
��������
 �� �
��������� ��!����
 3���� ����!�� ����
 ���
�����"

*���#+ )�
&�&����� �
� ����������� 6227"
8/F9 �" ��
��� �
� �" 
������" �
��������� �
������ �� ���� +�!����
 ������" '� �
����� �
���

������ A46/5@6?1� 622?"
8/59 	"�" ����� �" .N<!���*�
� D"
" ����$���� �� ��" ������������ ���
� �� ���C ������� ��� $�����

��
���" (�� '� ��
���� F54/05@/A?� /A06"
8/19 D" ������
� �" ��������� 	G <�����C�� �� ��" ������������ ����!��� �� ��� $����� �
� $�����

��
��� ���C" �� '� *������
��� //5%?&4F60@F?7� /A06"
8/79 �" ��!
��'��$�!��� +" G���
�!�� �" ��������� �� ��" � 
�� �
�������� �
�� �
 ���$��!���

$�
� ������������ ������ !��
� ��� ���� ��!���� ���
�����" (#� #��� ���"�
"� 5%F&� 6225"
8/09 �" �!������ �" D���$��
� �
� :" D!��" �!��
 �$���*�� ��������
 � ������
�� ���� �����'

����� �
� �����'��� 
����" #��� )����� 60%F&4F/A@F?7� 622/"
8/A9 D" ��
�� 	" 	" ����� �
� 
" ������ �������" �!������� �
������ �� ������������ ��
������"

)���� #��� (�
��� F/4A2A@A6?� /AA1"
8629 D" ��
�� �" B�J�� +" G��C����� �� ��" �!������� �
������ �� ������������ ��
������ �
�

$����� �����
��� ���C" ��
���� 02%/&411@7F� /AA7"
86/9 �" ��������� <" <�������
� �" ����������� �� ��" ���������������
 �� ������������ ����
���'

��� ������
� $� ������� ����
���
" )���� #��� (�
��� ?5%6&46?5@6F7� /AA2"
8669 +" ���
" �
 �J����*� ������ ��� ���!����
� +�!����
 ��
��� 3����" �
 )�
�����
"� 
� ���

����������� �
�����
" �����

� ����� /??@/?0" ������" <������"� /AAA"
86?9 �"'�" ���
� D" ����
��� �
� �" �� " ������� ����!�� �
������ �
� ������3�����
 �
 �������

�����
�" �*** ���
�� 

 #��� ���"�
"� 0%6&4/??@/F6� /A0A"
86F9 D" �" ���!�O����" �
�,��
�� ��������-�� �
�� ��� �
�%���
�� &�
.
��
� ������


����� �� �����$

������


�����" :�� ������� H
�*������ D����� ��!����� 6222"
8659 +" ����� �
� �" D��
" ���C�* ��
��� 3��� �� �!�� ������" �*** ���
� )�#�� 5%/&465@?A�

/A0?"
8619 �" �(P¶��� �
� :" �P �©*P �©�(" ���

" ����
/�����

 �
 ��
&�&����� �
� ����������" ��������

:����� /A0/"
8679 �" ���!
��'�������� �
� �" �!Q�" )�
&�&����0 �©� �� ��������-���� *��!�� 6" �����
� /A0?"
8609 <" ��*��� �
� :" ����" ������� �
������ �� �!����� ��!��
��� $� !��
� ������� ����" '� �� �����

�
�� ���� (� 1/4?@?7� /AAA"
86A9 �" �" �������� �
� +" 	" 	�����" ���� �
� � ��� ���!�����
 �� ������
��� ��!����
 ���������

����!�� ����!��
� ��$����
� �� ��� ��*����
�� ����� " ���# '� ���� �
������ /0%F&4/200@
//27� /AA7"

8?29 I" ��� �� ��"� �������" 1�� �
���
���

��  
�!��
� 

 ��"���� #���
"������ �������� H<��
D!
� /AA1" 
���*��� <���
��"



��

8?/9 I" D" �����
��" ������� ��
�����" D��
 =���� E <�
�� /AA2"
8?69 �"+" +��� �� ��"� �������" 2
� �
���
���

��  
�!��
� 

 ��"���� #���
"������ B��C� 

�'

��
�� D!�� /AAF" 
���*��� <���
��"
8??9 D" ���
�� <" ���
�� �" -����!�(�
� �� ��" .
 ��� ����������� 
��!�� �� ����������"#��� )�����

61%//&4665F@661A� /AAA"
8?F9 D" ���
� �
� :" ��������" ������������ ����!�� $����� ��
��� ���C� ������ ����� �
�������

�
� ������� �����������4 ������ $����� ����!� ���
�� �
� ������� �������� �
Q!�
���" �����
����
�� A4?/7@??5� 6226"

8?59 D" ���
� �
� :" ��������" ������������ ����!�� $����� ��
��� ���C� ������ ����� �
�������
�
� ������� �����������4 ����!� �
� ������� ���C �������" ����� ����
�� A46A0@?/1� 6226"

8?19 D" ���
� �
� �" -����!�(�
" <������� �
������ �� �!�� 3��� ������� ����������� ����" #���
)����� 6A%5&41F7@11/� 6226"

8?79 D" ����� �
� +" G�
�" ,!������� *�������
� �
� ���������
 �� ��� ����� ������ �
�� �� �
+�!����
 �������" �

� �
��� ��
�� )
�
���,3 )�
&� ������ ??%F&4F27@F?1� /AA7"

8?09 �" D�

�
�� �" ���$�� +" G���
�!�� �� ��" 
��������
 �� ��� ?� ����'���������� ��������� ��
���$��!��� $�
� ���� ��� ���O�����
" #������ ���"� �
������� //4A/@A0� 6227"

8?A9 �" I���
�" .
 ��� �������
�� �
������������
�� 3���" )�
&�&� #���� ��������� /1405@A0� /AA1"
8F29 G" �" I����
 �
� �" �" D" I!�" �
 �����*�� ������ ��� 6'� <���'<������ ����� <�
������"

�*** ���
�� ���"� )�
������ 5%5&475F@71/� /AA1"
8F/9 	" I��������O�� �� ��"� �������" 4�� �
���
���

��  
�!��
� 

 ��"���� #���
"������ 	�'

O����
� #�� 	�������
��� D!
� /AA0" I�!��� ��������"
8F69 D" #" I�
� �
� �" #" �" =���" 
�������
� ��� ������� ����
���
 �� � ������� ����'�������

+�!����
 ������� $� !��
� �
�����
��" '� �
�� �������� �
�� ���� (� 5A%?&417A@1AA� /AA7"
8F?9 :" I����
��� D"'�" G�
�� :" <��
�'D��
� �� ��" =�*����'$���� �!���������� ��������� �� ������

�
 ����
���� �
 ������(�� ����������" ���"� �
��� �����
��� 624/1A@/7F� 622/"
8FF9 <" G����" �
����� ��
������-�� �� ��"
��/ �����$�������/ �� ��������

� �� �����5����"

:�� ������� H
�*�����M �N.��M�
�� ������������	
��
����	��������������������

����
���

	�������� 6222"
8F59 #" G!
����� ="D" .����� <"�" I��� �
� �" <�J�" �������
�� $���
��
 �����
4 � �� ��!�

��C������� ��������� �
� ��� ����������
 �� ����� �� �!��" �*** ���
�� 

 #������ ���"���
5%?&4/56@/1/� /A01"

8F19 �" �" ��
���$��� �
� D" -�
 	���" �������
�� ����
��
 �����
� �������

�� 
����� �
� �����'
�����
�" ���# ��%��.� /24F66@F?7� /A10"

8F79 B" ������ �" <����
� �
� �"<" #�))!" =�*������ +�
�������� =���� 	���� �
� �������
��
�
��������
4 #�� <�
������ �� �������
�� ����
��
 �����
" '� �
����� �
��� ������ 5%5&4F15@
FAF� /AAA"

8F09 �" 	����� �
� :" ��

������" <��!�����
 �� �������
�� ����
��
 �����
 ���� ��
�����
���(��
��
��� ������
� ����������
�" #���
���� ������� ��*�
��� �
 :�������
�� �
������� /AAA"

8FA9 �"'." :�����
� ������" 6�� �
���
���

��  
�!��
� 

 ��"���� #���
"������ �����
� +��'
��
�� D!
� 6226" <���
���"

8529 �"�" :������ �
� D" G�*� -����" �!����������
�� ����
��
 �����
4 ��3
����
 �
� �������
���
���!���" #���
���� ������� �	���� /AA1"

85/9 �" :�
���
�" �������'$���� ����������
 �� 
��!��� ���
��" �*** ���
�� 

 )���� �
��� �
�
#���� �
������ 1411/@17F� /A0F"

8569 
" :����
� �" ���$�� �" D�

�
�� �
� �" ���$����
" ���� �
� 
 ��� <�
������ ��� /'� �������
��
����
��
 �����
 �
� �������
�� +�!����
 	�����" �*** ��"
�� )�
�����
" �������� A%//&4?06@
?0F� 6226"

85?9 -" :������" =�*����'$���� ���!�����
 �� �������
�� ����
��
 �����
 ��*������" :�����
�� 622F"



�� �������� ���	
�� 
�� 	��
��� ����
�

85F9 �" G" <���
" ���� �
� � ��� ���!�����
 �� �������
�� ����
��
 �!������" '� �
����� ������
��������� //%?&4507@5AA� 6226"

8559 D"	" =����" �!��� �� � ���� �
������� �� $����� �����
���" ����
�
"�� 0A4621@6/2� /A17"
8519 D"	" =����" � ��!�� �� $����� ����
����� $� ����������� �
 ��� 
����� ����
 �
� �����

���� $�
��
 �
� �����
�
� �������" ����
�
"�� 0A462/@625� /A17"
8579 B" R���" <����� ���� ���������� �� �
��������� ��!����
 ��
��� 3����" ������
�� 6227"
8509 �" B�J� �� ��"� �������" 7�� �
���
���

��  
�!��
� 

 ��"���� #���
"������ #���
���

��
���� D!
� 6222" ������� :������ :!$�����
�"

	��
���
�� ��
�� ���������� 
���� ���������� ���� ��� ����� ��� ��� ���

�������
 ���� !�"!# 
��$� ����% #& '����(�

*$���� ������� 4  �
����!"�
��#�$%#����
	�
��	
�����
�&���


